Homework- Graphing Parabolas
Math 120/121

For each of the following parabolas:

1) State whether the parabola opens up or down.

2) Put the equation of the parabola into “vertex” form by completing the square.


State where the vertex occurs. (express as an ordered pair)
3) Find the x and y intercepts of the parabola. (round to one decimal place if necessary)
4) Write the equation of the axis of symmetry.

5) On graph paper, carefully plot the vertex, intercepts, and the axis of symmetry.  Plot
 an additional point if necessary.

6) Does the parabola have a maximum or minimum value?

7) What is the maximum (or minimum) value?

8) Where does the maximum (or minimum) value occur?
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Answers
1)          opens up
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 y intercept  
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,  x intercept  
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 parabola has a minimum value


 minimum value is 
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2)          opens up
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,  vertex at  
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 y intercept  
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 axis of symmetry:  
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 parabola has a minimum value


 minimum value is 
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3)          opens down



[image: image18.wmf]2

()3(2)4

fxx

=--+

,  vertex at  
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 y intercept  
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,  x intercept  
[image: image21.wmf](0.8,0) and (3.2,0)
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 parabola has a maximum value


 maximum value is 
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4)          opens up
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,  vertex at  
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 y intercept  
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,  x intercept  
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 axis of symmetry:  
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 parabola has a minimum value


 minimum value is 
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